Algebra ll Name }@/\

Ch. 4: Matrices Review Sheet J
Ve
CALCULATOR SECTION

Find the determinant. For #1&2
P 1 1 10 4 6

1. |7 4 3 2.2 31
{—l 501 |'D§ 302 0 \r—'@ll

S y - 15
3. Multiply if possible. | el 1 -4 2
PUEE {1 = —4} -9 b -3
3 0 -1
D 2¥ 53
Find the inverse, if it exists.
e 7 -1 2 =1 —ﬁ'—} ‘-‘5}3
4. li-_] l_;} ONE 5 13 6 4 s o
S 0
0 11 -2 = 210 J26
» 11 3
s “Yor  gg
6. Write as a matrix equation & solve. 7. Write as a matrix equation & solve.
3x+4y+2z=12 2x+2z=6
2x-3y-4z=-12 3x-2y+4z=13
5x+5y+6z=8 -y-3z=-15
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NON-CALCULATOR SECTION

Name the dimensions of the matrices.

8

8. [3 : 1:‘ 0. |’ 10. [2 43]
-5 6 -3 -2
%3 ’

x| %

Perform indicated operations. #11-15
- -1 -1 2
11. 3 =2 2 12. 2 8 -3
4 -1 7 3 4 6 0

-4 9 -5
=~ 3 1)

i [2 4}[3 -2 7] " [4 0 —8].[—] 2}
3 -1| |6 0 -5 7 2 10| |6 o0

¥t 2\ 3 2.¥ ’,_ zxz
] CANOT MULTIRLY |

3 0 - .
A s
:w & Determinant wrike ~matny (ET)

© t 00 T ) D Dimensieas (# ;)

& & I fre

=
,31
&
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Solve for x.
Hint: There are bars, not brackets, around the matrices.

16 3\54 = 34 17. P~ = -6
" lx 6| 3oax
18 + +8X =3Y Sy 4+ 43 = —lb
—\% —§ ==
SX = lb Sy =-19
L 73 ;_—m
X2 a
18. Write the system as a matrix equat|on DO NOT SOLVE!
\(
dw—x+5y-z=1 i | 5 "f w ]
x+3y-62=2 © | - b X _ =
-3w-9z=12 -3 o0 O '—q y \ 2
22=6 & O Z Z [
Fill in the blank.
19a. Two matrices may be added if_ . NeISIONS Gre. e)éad'lj. tHre same.
19b. Two matrices may be multiplied if_Hne tnner cliMens by wmarehn

19c. A matrix must bem in order for it to have a determinant or an inverse.

Solve the system using matrices. Write the solutions as ordered pairs.

o T w iz [ )6 (]
GG sl s]

f{s) IR0 GRSt
SEAGLSES ] E S
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Pre-Calculus Name
REVIEW 2: Matrices

S|

NO CALCULATORI

\2 1. Which of the following matrices has an inverse?

4 8 3 4
A. . X )
L 4] B. 1] C.[3 5 1] D L 6}
o 10 -5 . .
2. Find 47" if 4= |- (Circle your final answer.) 2 A
\ 72 = 5 SS iy
U L 2 S _l-_‘ 7S Ss SS _
Zo--35 |1 1e | T oss by el T ) T | 7L 2
Ss §s 55 ()
3. What would make a square matrix have an inverse that does not exist? Give an
example. Detr=o
3 6

— Answers will va
2 q] 7

4. What are the dimensions of matrix Mif M-4,,=B,,? 2%

1 -3
2 -1 3 -4 2 2 3 B
a2 7 2] o 2] 2] [ }
-2 3
Evaluate. If not possible, state why. (Circle your final answer.)
a) 2C-B g J b) 4B+ C c)C

LA N e B Not- pessiole L (u-s

('_7)’ 7 (:" | 3 A o= S--3 |\ 2
¢ - ﬂ_ —}
d) Det D—aNot pesiOle e) |C| _L[‘{ be 0 T

n \ Z

B+ {\\S

=ly
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6. Identity Matrix: Know properties of identity matrix (section 1.11). (e.g. what do you
multiply to get the identity matrix as your answer, what do you get if multiply by

identity matrix, etc...) il 3% 3
'O(‘D il 37 elz.
ool

___7. Youare planning a birthday party for your younger brother at a skating rink. The
cost of admission is $3.50 per adult and $2.25 per child. The cost of skate rental
is $5.25 for an adult and $3.75 for a child. The cost of refreshments provided at
the party is $3 regardless of age.

a) Display this information in a matrix C. Label the rows (age) and columns

(purchase). fdmisson  Skale Rentas) Ee freShimonts
Adult 43 o 5.25 2
| .25 515 3
cnld | & ‘
L

b) Explain (in words) Ciz and Cas.
Oz Seie (enkal Rr adolt s $5.25
[z

Cp = Reb. For cnild s 3%

2 -1] [-16 -8
7. Find x and y: 2){_10 5}2[ 7 40} (Circle your final answer.)

“yx=-lb —20(Y4) =
_zox 1o Yo x =4 - '
Y CALCULATOR (ﬂ (~5°

8 What is the area of the triangle in square units with the given vertices?
(Circle your final answer:.)

_ 4 _’ r—'} q ‘ RN :_—} HHj
f= 2 Sl e = EEENEEREN
2 L it s

n i L S H e H

— Z G‘L‘D) 2’0 un\)‘_s V-.«L—L H» 1T - A—E 4 _£\
T
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